

PROPERTY DETAILS REPORT

St. Louis County, Minnesota



Date of Report: 5/11/2025 9:13:27 AM

			General De	tails					
Parcel ID:	141-0010-0	4201							
Document:	Abstract - 1	Abstract - 1078716							
Document Date	. 04/02/2008	04/02/2008							
		Le	gal Description	on Details					
Plat Name:	HIBBING								
Sec							Block		
2	4	56		20		-	-		
Description: SW1/4 OF NW1/4 EX RY R/W 5.95 ACRES & EX W 660 FT OF N 660 FT									
			Taxpayer D	etails					
Taxpayer Name	BENZ DEN	NIS & SHERYL							
and Address:	5207 MINE	RAL AVE							
	MT IRON N	IN 55768							
			Owner De	haila					
Owner Name	BENZ DEN		Owner De	alla					
Owner Name Owner Name	BENZ DEN BENZ SHE								
			able 2025 Tax	Summary					
	2025	Net Tax		. Cannary	\$1,22	8.00			
	2025 -	Special Assessme	I Assessments \$0.00						
	2025	- Total Tax &	Special Asse	ssments	\$1,22	8.00			
		Curren	t Tax Due (as	of 5/10/202	5)				
	Due May 15		Due Novem		-,	Total Due			
	Due way 15		Due Noven				•		
2025 - 1st Hal	If Tax \$614	.00 2025 - 2	nd Half Tax	\$61	4.00 202	2025 - 1st Half Tax Due			
2025 - 1st Hal	If Tax Paid \$614	.00 2025 - 2	2025 - 2nd Half Tax Paid \$0.00		60.00 202	2025 - 2nd Half Tax Due			
					<u> </u>	2025 Total Dua			
2025 - 1st Ha	If Due \$0	.00 2025 - 2	2025 - 2nd Half Due \$614.00 2025 - Total Due			\$614.00			
			Parcel Det	ails					
Property Addre	ess: 2872 CO R	D 444, HIBBING I	MN						
School District:	-								
Tax Increment I									
Property/Home	steader: BENZ, DEN	INIS J & SHERYL							
Class Or de	However		nt Details (20	-	-	Def Dista	N=4 7		
Class Code (Legend)	Homestead Status	Land EMV	Bldg EMV	Total EMV	Def Land EMV	Def Bldg EMV	Net Tax Capacity		
124	1 - Owner Homestead (100.00% total)	\$21,100	\$87,000	\$108,100	\$0	\$0	-		
	151 0 - Non Homestead		\$25,200	\$31,200	\$0	\$0	-		
151	Total:		\$112,200	\$139,300	\$0	\$0	853		



PROPERTY DETAILS REPORT

St. Louis County, Minnesota



Date of Report: 5/11/2025 9:13:27 AM

				Land D	etails				
Dee	ded Acres:	24.05							
Wate	erfront:	-							
Wate	er Front Feet:	0.00							
Wate	er Code & Desc:	-							
Gas	Code & Desc:	-							
Sew	er Code & Desc:	-							
Lot	Width:	0.00							
Lot	Depth:	0.00							
The https	dimensions shown are no :://apps.stlouiscountymn.	ot guaranteed to be surv gov/webPlatsIframe/frm	vey quality. <i>I</i> PlatStatPop	Additional lo Up.aspx. If t	t information can be here are any quest	e found at ions, please email <mark>PropertyT</mark> a	ax@stlouiscountymn.gov.		
			Improve	ement 1 [Details (CABIN)			
Improvement Type Year Built		Year Built	Main Floor Ft ²		Gross Area Ft ²	Basement Finish	Style Code & Desc.		
	HOUSE	0	72	0	720	-	CAB - CABIN		
	Segment	Story	Width	Length	Area	Foundati	on		
	BAS	1	24 30 6 8		720	FLOATING	SLAB		
	DK	0			48	POST ON GF	OUND		
	Bath Count Bedroom Count		Room Co		Count	Fireplace Count	HVAC		
0.0 BATHS 2 BEDROOMS				-		-	CENTRAL, GAS		
Improvement 2 Details (ATT GARAGE)									
I	mprovement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.		
	GARAGE	2018	33	6	336	-	ATTACHED		
	Segment Story		Width	Width Length Area		Foundat	Foundation		
	BAS	0	14	24	336	FLOATING	SLAB		
		In	nprovem	ent 3 Det	ails (OLD CAB	BIN)			
1	mprovement Type	Year Built	Main Flo		Gross Area Ft ²	, Basement Finish	Style Code & Desc.		
	SLEEPER	0	85	2	852	-	-		
	Segment Story		Width Length Area		Foundation				
BAS 1		0 0 852		POST ON GROUND					
Improvement 4 Details (8X8 SHED)									
1	mprovement Type	Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Desc.		
S	TORAGE BUILDING	1968	64	Ļ	64	-	-		
	Segment	Story	Width	Length	Area	Foundati	on		
BAS 1		8	8	64	POST ON GF				
Improvement 5 Details (SHED W/LT) Improvement Type Year Built Main Floor Ft ² Gross Area Ft ² Basement Finish Style Code & Desc.									
STORAGE BUILDING 1988 168									
StorkAGE Bollbling 1988 108 108 Segment Story Width Length Area						- Foundati	- 0n		
	BAS	1	14	12	168	Foundation POST ON GROUND			
	LT	1	6			POST ON GF			
	LT	1	18	6	84 108	POST ON GF			
	LI	I	10	U	100	FUST ON OF			



PROPERTY DETAILS REPORT



St. Louis County, Minnesota

		Improvem	ent 6 Deta	ils (12X22 GAI	र)			
Improvement Type	Year Built	Main Flo	oor Ft ² G	Bross Area Ft ²	Basen	nent Finish	Style C	ode & Desc.
STORAGE BUILDING 1958		26	4	264		-		-
Segment Story		Width	Length	Area		Founda	ation	
BAS 1		12	22	264		POST ON GROUND		
LT	1	7	22	154		POST ON C	GROUND	
		Improvem	ent 7 Detai	ls (10X12SHE	D)			
Improvement Type	Year Built	Main Flo	oor Ft ² G	Fross Area Ft ²	Basen	nent Finish	Style C	ode & Desc.
STORAGE BUILDING		12	-	120				-
Segment	•	Width	0			Foundation		
BAS	1	10	12	120		POST ON C	GROUND	
		-		Details (9x5)				
Improvement Type	Year Built	Main Flo	oor Ft ² G	Fross Area Ft ²	Basen	nent Finish	Style C	ode & Desc.
STORAGE BUILDING	3 1985	45	5	45	; -			-
Segment	•	Width	Length	Area		Foundation		
BAS	0	9	5	45		-		
		Improv	vement 9 De	etails (Open)				
Improvement Type	Year Built	Main Flo	oor Ft ² G	Fross Area Ft ²	Basen	nent Finish	Style C	ode & Desc.
STORAGE BUILDING		14	4	144		-		-
Segment Story		Width	5		ation			
BAS	0	12	12	144		-		
	Sa	les Reported	to the St. I	Louis County	Auditor			
No Sales information	on reported.							
		A	ssessment	History				
	Class					Def	Def	
Year	Code (<mark>Legend</mark>)	Land EMV	Bldg EMV	j Toʻ EN		Land EMV	Bldg EMV	Net Tax Capacity
	124	\$23,400	\$70,60			\$0	\$0	-
2024 Payable 2025	151	\$6,100	\$26,40			\$0	\$0	-
	Total	\$29,500	\$97,00			\$0	\$0	795.00
	124	\$25,100	\$65,40		-	\$0	\$0	-
	151	\$6,200	\$24,50			\$0 \$0	\$0 \$0	
2023 Payable 2024								700.00
	Total	\$31,300	\$89,90			\$0	\$0	760.00
	124	\$19,200	\$46,60			\$0	\$0	-
2022 Payable 2023	151	\$5,900	\$17,40			\$0	\$0	-
	Total	\$25,100	\$64,00	00 \$89,	100	\$0	\$0	562.00
	124	\$16,700	\$39,50	00 \$56,	200	\$0	\$0	-
2021 Payable 2022	151	\$5,800	\$14,80	00 \$20,	600	\$0	\$0	-
				00 \$76,	800	\$0	\$0	487.00





	Tax Detail History								
Tax Year	Тах	Special Assessments	Total Tax & Special Assessments	Taxable Land MV	Taxable Building MV	Total Taxable MV			
2024	\$1,110.00	\$0.00	\$1,110.00	\$31,300	\$89,900	\$121,200			
2023	\$952.00	\$0.00	\$952.00	\$25,100	\$64,000	\$89,100			
2022	\$860.00	\$0.00	\$860.00	\$22,500	\$54,300	\$76,800			

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.